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Challenge: 

What time is it right now in your 
house/at school? 

 

Label all the angles in this shape 
(acute, obtuse, right angles) 

Jameson gets on the train in Portrush at 12:05. It takes 4 minutes to get to Coleraine, then he 

has to wait 12 minutes for the train to Belfast. The train to Belfast takes 1hr 15 minutes. What 

time will he arrive? 

Maths 

Today we’re going to continue our work on perimeter to get some extra practice. 

Can you use what you know to figure out the missing sides of this shape? 

  

We know the perimeter is the entire outside of a shape so 3cm + 4cm + ? = 12cm 

We can use the inverse operation to figure out the missing length.  

3cm + 4cm = 7cm 

  7cm + ? = 12cm 

? = 12cm– 7cm 

? = 5cm  


